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Ul:L4 Geome+ric series

A geometric series is the terms of a geometric sequence expressed as a sum.

To add geometric sequences we can use...
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Each term is t1r*, where k starts at 0 and goes up to n-1

Sﬁ}'o\d ano\ backwards version.
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z (called Sigma) means "sum up"...start at bottom value and go to top value, summing
k=0

up what is after Sigma.

This is also seen as simply S,,...
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EXAMPLES
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10) 30, 90, 270,816;2436—.
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d up the f|rst!_10 terms’of the Geometric Sequence that halves each time:

{ 1/5 1/4,1/8,1/16, ... }
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So, what happens when n is unknown?

Determine th f the geometric sequence:
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An advertising company designs a campaign to introduce a new product to a
metropolitan area. The company determines that 1000 people are aware of the
product at the beginning of the campaign. The number of new people aware
increases by 40% every 10 days during the campaign. How many people will be
aware of the campaign after 100 days? .L - ‘00 (o)
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PRACTICE! PAGES 53-57 (@ 1,2,4,9,16,22)
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